
 
 
 

 
  
 
 

 

© VideoPlato 2024 | Not to be copied or reproduced without licence. 

 

Page 1 of 4 
 

 

 

 

 BASIC TRIGONOMETRY 

1. Evaluate:  sin(30o) 

 

 

 

 

2. Evaluate:  cos(60o) 

 

 

 

 

3. Find θ:  If sin(θ)=0.5 and 0o ≤ θ ≤ 90o 

 

 

 

 

4. Find θ:  If cos(θ)=1/2 and 0o ≤ θ ≤ 90o 

 

 

 

 

5. Evaluate:  tan(45o) 

 

 

 

 

 

 

 

 

 

Warm-up Maths Questions for  

A-level Physics (trigonometry) 
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INTERMEDIATE TRIGONOMETRY 

6. Simplify:  sin(90o−θ) 

 

 

 

 

7. Solve for θ:  cos(θ)=√3 /2  and 0o≤θ≤360o 

 

 

 

 

8. Simplify:   2sin(30o)⋅cos(30o) 

 

 

 

 

9. Find θ:  If tan(θ)=1  and   0o≤θ≤360o 

 

 

 

 

10. Evaluate:  sin(120o) 
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ADVANCED TRIGONOMETRY 

11. Solve for θ:  2sin(θ)= 1 and 0o≤θ≤360o 
 

 

 

 

 

12. Prove the identity:  sin2(θ)+cos2(θ) = 1 
 

 

 

 

 

13. Find x:  If sin(x)=cos(x) and 0o ≤ x ≤ 90o 
 

 

 

 

 

14. Solve for θ:  cos2(θ)=1/4 and 0o ≤ θ ≤ 360o 
 

 

 

 

 

15. Evaluate:  cos−1(1/2) 
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COMPLEX TRIGONOMETRY 

16. Solve for θ:  2sin2(θ)−1=0 and 0o ≤ θ ≤ 360o 
 

 

 

 

 

17. Find the general solution:  tan(θ)=√3 
 

 

 

 

 

18. Simplify:  sin(2θ) / cos(θ) 
 

 

 

 

 

19. Solve for θ:  2cos(θ)+1=0 and 0o ≤ θ ≤ 360o 
 

 

 

 

 

20. Find θ:  sin(2θ)=cos(θ) and 0o ≤ θ ≤ 360o 
 

 

 

 

 

 


